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\w@%&?f % acar 18 V(t)= 30+ 2t (in sene
WR) Fnd e W‘#‘fm \/ﬁ) @?F#mk can,
seln; 6«3 U (2)

y=[(30+20)dt = 30t +t"+C

We, cannet determine the exact W‘#\WW ve o
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bnpwn Heat Y (p) = 10.
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@ What Yo expecd in This Cﬁuzéer
® o vl e %vandq 0&#&%‘5\@5 eﬁaaﬁbns D%%Z 7@1%2

3.’-2’ =f(t,y), (4)
where f(@ y) 1S Somnl Wjﬁunmzzbm




‘ . ' 10-3
Metes: &y M&JWW%W
+ s called the in%%m%.w&
Yo 2ol @dxﬁq‘w%#wﬂm WWW%
deponde on T,
® o e fortbock, they often wse "' instesd of 'L
2 We w&(l@@ &M&%WW&W%W%W
% 24.(3) om p 10-2 v sebve Cq. (%), Tudecd, of
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woluing Ay = f(4y), keep in nuind Vhat
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)
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Solution of diff. eq.: | = nraid doam,
Lo sl (b
Catablich 1 Bebavior ot £ —= 0,
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@i:%:ﬁ(%ﬁ?epf)=@+cwer%

=t (1 +Ce’”¢b>“m*’/4f§«+“cer
:—/A+y'(+ ~Ce ™ - e’ :%\/

s smss—

Since T >0 @f%/ — o0 Ll/ C>0
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(B) Recbtoin the shetches found in part (a)

%M{mﬁ%ﬁwmmaﬁﬁmw where L/\Q’F\A
sobin: Yllow HHe odgs of Ex. G(8).
— o %:_Lw_[;7 4§CL) -0

FL) $:l'<op L/
Sketeh £(L) vs Lo, W%?r E;WQ*"“ ,:"c:g'?:-_,
atfenfion Yo the SHgms. —Ma
Noke. o neeo notakion LFe 18" shands for equitibrium”
Whem L=Le, f(le)=0O = _;o_l_l_—/,_._ £016) =0 .
So Vhis equilibrium oelickion rencins comtnd in e
Ve equilibrien sobokion s o vy degortant concept.
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= lL& = Wb/r\.

— Pl sumes L vs T gmd L:[;f—(z_bo)?,,//l
W]afwjv%z Loarss mele T
%W b §050 -0 s }JCCL)<O) L'\
wnd < 0. v t

(Tathss problom, | <0 doeo nol neate gonne . so we
”62961/1/5 o Yhe WHV@ /\M&% e L’MIZ.)

— Foramy £y plot severad anows - l/
at ol L —vatues . The S
sloje of Hu arvows nugt Le 777 S
WW%%@&%%@% Q
(L), ',-




= Repead, Hhic for o ngg%r vallees .

and Connect Yhe arrows

%fr\aﬂec‘ﬁ%/g{ % //
This hajeckrg mack b Lot -
WW%WWWQ :.fi\’Q\
In Wﬁ%&wﬂww S g Bf

HW W WW@&@%«L J=le
and omether Vlﬂfy MW l=/o .

Nofe Hhat *ﬁ L=Le Wﬁa%Corwta,th))
then L remacns Lo for all Hmes.

Therefore , o Vrajectory (= WW@%@WJ

of ¥he &iff &) can NEVER cross L=Lle




